A82  Answers to Exercises and Chapter Tests
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45. 0 =0 =4xw 46, 0 =0 =27
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47. The graph of r = 1 + sin #6 has n loops.
48. As c increases, the “dimple” of the graph becomes
an inner loop. 49. IV 50. 1 51. 0 52. 11
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58. (a) 9
-3k 53
-1
(b) y =x*
59. (a) Elliptical 700
—7000
(b) ; 540 mi

60. (a) Spiral

() 2.1 rad

SECTION 8.3 = PAGE 562

1. real, imaginary, (a, ) 2. () Va* + b% bja
(b) r(cos 6 + isind)

3. (a) \/~<cos~;+ zsm—> W+z
(b) 1 +1, W(cosg— + isin2>

4
4. n; four; 2, 2i, —2, —~2i; 2 Im
2
-~
/// N
/ \
/ \
| \
* $
-2 Y /2 Re
\ /
\ /
N
\\ ///
N
~2i
5.4 Im 6.3 Im
4
-1 0 Re
i -3i
-1 0 1 Re
8. 6 Im
i
4 6 Re
10. V58
ImT
0l 1 Re
~-t
a 7 —.35
542
i
0| 1 Re
11. 2 12. 2V3/3
Im ImT
-1 [ 1 Re
i *,
i e f3+i -t
i
[ i Re
3. 1 4. 1
Im Im
! —24id g
90.6 + 0.8 N
-1 0 1 Re
0 1 Re




